, compulsorily draw diagonal cross lines on the remaining blank pages.

Important Note : 1. On completing your answers

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN
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Max. Marks: 100

""Module 1

Solve y"—y"+4y'—4y =sin h(2x +3). (06 Marks)
Solve y"+ 2y +y=2x+x’ (07 Marks)
(07 Marks)

(06 Marks)

Solve y" — 6y . 9y 7e”2" —log2. / (07 Marks)
Solve y L3y 2y =x" +¢* by the method of un-determined coefficients. (07 Marks)

Module-2

Solve x2y"+xy' +9y =3x"+ sm(310g X). (06 Marks)
) (07 Marks)

Solve (px — y)(py + x) 2p by reducmg 1t 1nto Cluiraut’s form by taking X =x*and Y = 2.

;; (07 Marks)
Solve (3x + 2)2 "+ 3(3x +2)y' = 36y 8x” +4x+1 (06 Marks)
Solve..p* + 2pycotx—y* =0 &, (07 Marks)

Show that the equation xp +px—py+1- y 0 is Clalraut s equation and find its general

and singular solution. - (07 Marks)
Module 3
~ Form the partlal dlfferentlal equat.lon of the equation {x+my+nz= (x> +y>+z*) by
eliminating the arbltrary function: (06 Marks)
R -
Solve —- =X+ e 5 (07 Marks)
ox
Derive the one dimensional heat equation u, =c’.u,, \ (07 Marks)

=1 by eliminating ¥
arbitrary constants (06 Marks)

1 of2 x
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2
. 0 .
Solve —f— =z, given that z= 0 and 9 _sinx when =

o*u  , 0%

17"MAT21

(07 Marks)

Obtain the solution of one dimensional wave equatxon E——c pe) by the method of

separation of variables for the positive constant.

M()dll'le-4 ” ‘;(:,::),u i
1,z x+z '
Evaluate _” I(x +y+z)dydxdz.
<10 x-z
1 V1-x2

Evaluate I I y*dydx by changlng the order of 1ntegrat10n B

Derive the relation betwee,n“’Beta and Gamma funcgiéﬁ"tas B(m,n)=

m-+n

Evaluate

*******

i ‘%iii%{:
Evaluate

Evaluate J g X — by expressing in terms of beta function.
+X Ayl x

0
Module:5

t ’ P v
Find (i) L{tcos at] vvvvvvvv (11) L[S“ia }

Find the Laplace transform of the full wave rectlﬁer f(t)=Esin wt,

il

,,,,,

—.0 using Laplace transform.

,f,dii

Find Inverse Laplace transform of““m_iz—
(s +3)
Frcs e Poction CMRIT LIBRARY
R {OE costdSt< BANGALORE - 568 037
sint, ¥t>n

in terms of unit step fur{]‘ctlon and hence find its Laplace transform.

Find Inverse Laplace transform of Tz——z—) using convolution theorem.
A Gy s(s” +a

% sk ok ok ok

2 0f2

[m.[n

(07 Marks)

(06 Marks)

(07 Marks)

(07 Marks)

(06 Marks)

(07 Marks)

(07 Marks)

(06 Marks)

n 2
0<t<— with
w

(07 Marks)

(07 Marks)

(06 Marks)

(07 Marks)

(07 Marks) ,




